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BOTANY KEY ANSWER
SECTION - A
MAX. MARKS-150
30x1=30
! i BB
: TYPEA TYPE-B
a [ Arachis hypogea 1 |b | Aegie marmeios
2 fa Parenciwma 2 |a | Niwosomonas
'3 la | Jewophs arcas 3 b | Chioropind
4 |b {Sysars 4 lc 140
'5 'c ! Ceriimorgan 5 1d_ | Abscisic acd
K3 g | MNucisus 6 |b |Sysas
7 ib | Asgie marmeios 7 J¢ ; sequence
8 lg 140 -8—+a——-Differentiziion
.9 d Secorxdany phicem g8 e Basal
W fa Trchoblasis 10 [b Muyssaenda
i1 [d Abscisic aod it-ib  [One
i2 b | inlereron 12 i¢c Centimorgan
13 !d | DNAvausss 13 la Drosera
i4 (¢ Basal 14 ib {Tobacco
15 g i Trlicale 15 jc | Trilicale
16 ja Solarura nEgpum 16 lc | Bacillus Bwrungiensis
17 ia Nidrosomanas 17 |a Species
18 fa Densera i8 |a | Solanum nigrum
19 le Necleolide sequence 18 |b Interieron
20 'z | Spedes 20 |c | Arachis hypogea ‘
21 ‘B Mussaenda 21 lc | Oxidative phosphorylation
2 b Tobacro 22 |a | Jabopha curcas
23 a Dillerentiaion 23 |d | Nudeus
24 ¢ Cypsela 24 |d DNA Viruses
2 2 Kuhne 25 |d | Msalvaceae
2% |b Chioropihwd 26 |a | Parenchyma
27 _;d Mavacese 27 ja  [Kune
3B |c Bacilus thurungiensis 28 lc Cypsela
-2 (b One 29 |d | Secondary phioem
'3 jc Oxiciafive phosphoryiation |30 [a | Trichoblasis




SECTION-B

15x3= 45

31

n

Every Specles Is given a name of two words.

The first word refers to the genus and second word
to the species.

E.g . Mangifera indica

(or) any one Binomial name

3 Marks

32

n v n
1. Gossyplum barbadense
2. Gossyplum hirsutum
3. Gossyplum herbaceum
4. Hiblscus cannabinus

3X1=3

3 Marks

33

34

Floral formula of s nucifer
Male Flower o
Bl’,Ebfl, ®. (3\ , P as, A 343, Ga.

Female flower
Br, Ebrl, @, 9, P 13, Ao,C3

1%

1%

3 Marks

Polygamous
Staminate flowers. Pistillate flowers and bisexual

flowers are present in the same plant is called
polygamous
Eg. Musa......

3 Marks

Aerenchyma
Air filled parenchyma tissue is called Aerenchyma.

It helps the plant to float in water

3 Marks

36

B- Chromosome
1.These chromosomes are abnormal chromosomes.

2.B-Chromosomes are also called supernumerary
and accessory Chromosomes.
3.They are additional Chromosomes found in some
individuals in a population
4.They are common in plants and they reduce
viability.

{Any three points)

3 Marks

2




37

Biochemical Mutation
Mutations that affect the biochemical reactions are

called biochemical mutations.
Eg. Neurospora

3 Marks

38

Positive super coil
The DNA unwinds, the part of the DNA thatis _

found above the replication fork becomes supercoils.
These are called positive supercoils. 2
Enzyme topoisomerase releases the supercoils

3 Marks

39

Super bug ’
1. Pseudomonas putida is called the super bug.

2. It Contains a hybrid plasmid derived by
combining parts of CAM and OCT

3. It metabolizing hydrocarbons more efficiently |1

3 Marks

40

Importance of Agqrobacterium tumefaciens

1. Agrobacterium tumefaciens is a soil mhabltlng
bacterium and has Ti Plasmid.

2. This bacterium invades crops such as tomato,
sun flower, brinjal, and cotton and causes
crown gall disease

3. The T-DNA Which holds the desired foreign
gene after splicing is infroduced into the plant
cell.

3 Marks

41

Hydrolases
These enzymes split larger molecules into

smaller ones by the hydrolysis of water and
breaking of specific covalent bonds.
Eg. Carbohydrase

3 Marks

42

Chemosynthesis
Chemosynthesis is a process by which certain

organisms synthesis carbohydrates by using energy
obtained by the oxidation of inorganic substances.

3 Marks

43

Richmond Lang Effect
Application of cytokinin delays the process of

ageing in plants. This is also known as Richmond
lang effect.

3 Marks

3




The anaerobic breakdown of glucose to
carbondioxide and ethanol is a form of respiration
reffered to fermentation.

(or)
Fermentation literally means a chemical change
accompanied by effervescence.

3 Marks

The response of a planito the relative lengths of
light and dark periods is known as photoperiodism.

3 Marks

1. The C4 plants contain dimorphic chloroplasts.
2. Chloroplasts in mesophylt cells are granal

3. Whereas in bundle sheath chloroplasts are

agranal

47

Role of Aconitase
1. Citric acid is dehydrated to form cis aconitic

acid in the presence of aconitase

2. The same enzymes aconitase catalyzes the
formation of isocitric acid from Cis- Aconitic
acid by the addition of a molecule of water.

3 Marks

3

Cacycle

Respiration that occurs in photosynthetic
lissues inthe presence of light and resultsin
increased rate of carbondioxide evolution is called
photorespiration or Cz cycle.

3 Marks

49

Bi tici

Biological agents that are used for control of
insects, weeds, and pathogens produced from living
organisms are called biopesticides.

3 Marks

Bl

The clandestine exploitation and utilization of
bioresources from a country by several
organizations and multinational companies without
proper authorization is known as biopiracy.

3 Marks

4




SECTION -C
(Question No. 55 is compulsory)

Tx5= 35

51

Salient features of ICBN
Any five features

5X1=5 |5 Marks

52

Economic importance of Solanaceae

8

2
3
4

Food plants
One Binomial name +use

. Medicinal plants

Two Binomial name+ uses
Tobacco
One Binomial name + use

. Ornamental Plants

One Binomial name + use.

5 Marks

53

Functions of Epidermal tissue system

1.
il
3.
4.

5.

The Cuticle checks excessive loss of water
Epidermis protects the underlying tissues.
Stomata involve in transpiration and gaseous
exchange.

Trichomes are also helful in the dispersal of
seeds and fruits.

Root hairs absorb water and mineral salts
from the soil.

5 Marks

54

Annual Rings

1.
2.
3.
4,
5.

Spring wood
Autumnwood
Dendrocronology
Diagram

parts

5 Marks

R A

[55

1.5 of Dicot Root
1. Diagram (Ground plan / Enlarged)
2. Any four parts

o) 5 Marks

56

Crgssing Over

1.
2.

Definition
Any three significance

2 5 Marks




57 | Aneuploidy
1. Definition 1
2. Hypoploidy — Definition. »
Monosomy(2n-1)
Nullisomy(2n-2) S Marks
3. Hyperploidy — Definition 2
Trisomy (2n+1)
Tetrasomy(2n+2)
58 | Physiological effects of auxins. 5X1=5 |5 Marks
Any five Physiological effects.
59 [ Differences between C, and C, Pathway
{Any Five Differences)
Cs Pathway Cs Pathway
1. photosynthesis occurs in 1. Photosynthesis occurs
mesophyll cells. is mesophyll and
bundle sheath cells.
2. The COz molecule 2. The COz acceptor
acceptor is RUBP molecule is
phosphonenol
3. The First stable product pyruvate. 5X1=5
is PGA
3. The first stable product
is OAA
4. Photorespiration rate is
high 4. Photorespiration is
negligible.
5. Optimum temperature is 5. Optimum temperature
20°C to 25°C is 30%C to 45°C
6. Examples is any one 6. Example is any one
60. | Economic Importance of Rice 5X1=5 5 Marks
Any five importance
61 | lsolation of protoplast
1. Leaves from a 10 week old plant 1
2. Sterilized with 70% alcohol 1
3. Laminar air flow Chamber 1 5 Marks
4. Enzyme Mixture macerozyme sorbitol 1
5. Isotanic solution i.




P
btoaynthauln ot vsgential amino aolda
2. Hetbloides killa the unwanted waads
3. Herbloldes also atfecta the field orops
4. To protect the crops agalnsl expoaura (o
herblaides,
alroplumycea h moo lcus whioh encodes

an enzyma, o
herbicide ‘Bam

@ of Inactivating the

- m‘ﬂmr

Dicolyledonae
Gymonosparmae
Monocotyledonae
{or)

Explanation
Dicotyladonas
Gymnosparmaa
Monocotyledonae

T__ﬁm_,r.—-,. o e ow s

Habit
Root
Stem
Leat

et A m .

} Any two vegetative character

Inflorescence -~
Flower

Calyx

Coralia
Androecium
Gynoecium
Fruit J
Floral Diagram
Floral Formula

>Any fivo Reproductive characler

RS C

re B S5

2X1=2

5X1ub

B Matka

© dxi0=40

10Marka

T = T

10Marks




65

Monocot Stem

. epidermis

. Hypodermis

. Ground tissue

Vascular tissue

xylem

Phloem

Diagram (Ground plan / Enlarged)
parts (Any Four)

NP G LN

NN—I-—L._L—L—A—L

10Marks

66

=

lant tissue culture
. Culture Vessels

. Culture medium

. Sterilization
Chemical sterilization
Inoculation
Incubation

Induction of callus
Morphogenesis
organogeneisis
Embryogenesis

8. Hardening

NOOA WP~

10Marks

67

DNA Structure

1. Diagram
2. parts

3. Explanation

DN

10Marks

68

Capathway
1.Flow chart (or) Description

10

10Marks

69

Nutrition in Angiosperms (Any Five)
. Autotrophic nutrition

2. Heterotropic nutrition
3. Saprophytic plants
4
8

e

. parasitic plants
. insectivorous plants
6. Any two diagrams

5 x2=10

10Marks

70

Biofertilizers

1. Definition

2. Example

3. Seven Benefits

b

10Marks






